Human Inheritance
Humans have 23 pairs of chromosomes 
or 46 in each body cell
22 Pairs work this way: 

· Partners are same size

· Each partner in a pair controls the same traits but may have different alleles
1 Pair works differently:

Called sex chromosomes (X and Y) because they determine your sex

XX =
XY =

· X is much larger than Y

· X controls more traits than Y

What are the chances of having:

a boy? ___________%

a girl?  ___________%


Sex linked trait: a trait whose gene is located on the X but not on the Y
· Affects males more often because they have only 1 X

(only have one chance to get a good gene, no back up copy)

Ex. Colorblindness, hemophilia
Carrier: A person who does not show the trait but carries the allele for it
Pedigree: A chart showing a family’s history for a particular trait or disorder
Symbols: Always read the key first!
Usually:

Human Inheritance
Humans have _________ of chromosomes 

or ____ in each body cell
22 Pairs work this way: 

· Partners are _______  _______
· Each partner in a pair controls the same _______  but may have different ________
1 Pair works differently:

Called ______________ (X and Y) because they determine your sex

XX = __________
XY = __________

· X is much ________ than Y

· X controls ______ traits than Y

What are the chances of having:

a boy? ___________%

a girl?  ___________%


Sex linked trait: a trait whose gene is located on the ________________________
· Affects males more ______ because they have only 1 X

(only have one chance to get a good gene, no back up copy)

Ex. Colorblindness, hemophilia

________: A person who does not show the trait but carries the allele for it

___________: A chart showing a family’s history for a particular trait or disorder

Symbols: Always read the key first!

Usually:
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Normal Female
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Normal Female








